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Geometry CC — Mr. Valentino : : Name:
Unit 12 Day 8: Super Circles Day 2 "7 - Date: Per:

n Ee =

Aim: How can I use my circle strategies to solve for missing walues in Super Circles?

1. Chords AB and CD intersect at E in circle O, as ’5)‘“1. \x: \ 0‘2
shown in the diagram below. Secant DA and L{X =\ C\ Z
tangent B are drawn to circle O from external

point £ and chord AC is drawn, The mDA =56,
mDB = 112, and the ratio of mAC :mCB = Lé.

“2_ 4‘-&% . . 4CEB =

L 360 4F =
l6g —lés
192 4DAC =
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Determine m£ZCEB. Determine m£F. Determine H W:H- I [# 3‘ #L/

mZDAC .

2. In the accompanying diagram of circle O, AE and
FD are chords, AOBG is a diameter and 1s

extended to C, CDE is a secant, AE |E and
— p— g—
mAE -mED -mDG=35:3:1.
E m53=
ZAEF =
D 4DBG =
A C ZDCA =
0 B G

4CDF =

F

Find mDG, mZAEF, mZDBG, mZDCA, and
mZCDF
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3. In the accompanying diagram, circle © has radius
oD, diameter B@F , secant CBA, and chords
DHG and BD; CE 1s tangent to circle O at D,

— — — —
mDF = 80; and mBA . mAG :mGF=3:2:1. Find
mGF, mZBHD, mZBDG, mZGDE. mZC, and
mZBOD.

4. Given circle O with diameter GOAL, secants HUG
and HTAM intersect at point H,
n@:mﬁ:mﬁ?: 7:3:2; and chord
GU = chordUT. Find the ratio of m£UGL to
msH .

0
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5. Given tangent EDF at D,
secant EAC through center,
AB|| DC. and mZE = 40°.

mGF=

4BHD =

4BDG =

4GDE =

4C =

4B0OD =

2UGL =

AH =

2UGL - 4H s

41 =

42 =

43 =

44 =

45 =

6=

47 =
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